| Efficiency vs Dxy |
> 0.2
1% r : : : : : : : : :
O L . . . . . . . . .
@0 0,18
z L
R R R e e
Q L : : : : : : : : :
O S S
02

T e

eff

008
0

.7 R et o o e
000

o OEIIII:IIII:IIII:IIII!I I!I‘Ili*llll:IIII:IIII:IIII
"C:G 1:— ----------------------------- 4 -1: ----------------------------
o -

0.9 --ebermerioernndinn e Ll # ---------------------------------

08 E55-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DOM_TT__ORIGINAL
[ Efficiency vs Dz | |—s— DQM_TT__MODIFIED_layerProcv2

0.2 —— DQM_TT__MODIFIED_layerProcv2_OctoberVersion
N . ; T X T
o

FFSPPHCHNN W I TSRS SRS NSRS S
> T A N : : :
o e S
(&] - N N N N N
E0.14 B Fooie frorereeeee A
o : : : : :
0.12f vl
.

008 e

CYC R S S S —

o Ml

0.02 . i

J_O_ i l 11 1 1 i 11 1 1 ! 11 1 U : 11 1 |
1 : : : '

0.9

0.8

0030 = | )y 10

Ratio

e

2030
TP dz (cm)



	Contents
	Page 1


